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Tutor Marked Assignment

dqy vad% 20

Max. Marks: 20

fVIi.kh% (i) lHkh iz'uksa ds mÙkj nsus vfuok;Z gSaA izR;sd iz'u ds vad mlds lkeus fn, x, gSaA
Note: All questions are compulsory. The marks allowed for each question are given at same place.

(ii) mÙkj iqfLrdk ds izFke i`"B ij Åij dh vksj viuk uke] vuqØekad] vè;;u dsUnz dk uke] fo"k; Li"V
'kCnksa esa fyf[k,A
Write your name, enrolment number, AI name and subject on the top of the first page of the
answer sheet.

1. fuEufyf[kr esa ls fdlh ,d iz'u dk mÙkj yxHkx 40&60 'kCnksa esa nhft, % 2

Answer any one of the following questions in about 40-60 words :

(a) ,d fo|kFkhZ us gky gh esa okf.kT; ds fo|kFkhZ ds :i esa vkidh d{kk esa izos'k fy;k gS] tks ys[kkadu rFkk
ys[kkfof/ dks ,d leku ekurk gS] rFkk viuh ckr ds fy, cgl djrk gSA vki mls fdl izdkj le>k;saxs fd
nksuksa vyx&vyx vo/kj.kk;sa gSaA vius mÙkj ds i{k esa 4 dkj.k crkb;sA (ikB 1 ns[ksa)

One of the students who has recently joined your class as a student of commerce, consider that
Accounting and Book Keeping are same, and argue in favour that they are two. How will you
convince him that they are two different concepts. Give at least four point in favour of your argu-
ment. (See lesson 1)

(b) ys[kk&iqLrdksa esa lHkh ysu&nsu ,d vo/kj.kk ds vk/kj ij bl izdkj fy[ks tkrs gSa fd bu ysunsuksa ij ykHkksa
dh x.kuk ,d fo'ks"k le;kof/ ds fy, dh tkrh gSA bl vo/kj.kk dk uke crkb;s rFkk bls le>kb;sA

(ikB 2 ns[ksa)

All the transactions are recorded in the books of accounts on the base of a concept that profits on
these transaction are ascertained for a specific period. Name and explain this concept(See lesson
2)

2- fuEufyf[kr esa ls fdlh ,d iz'u dk mÙkj yxHkx 40&60 'kCnksa esa nhft,A 2

Answer any one of the following questions in about 40-60 words.

(a) ys[kkadu dh ,d vo/kj.kk ;g funsZf'kr djrh gS fd ykHk dh iwoZ dYiuk er djks ijUrq lHkh lEHkkfor gkfu;ksa
ds fy, vk;kstu dj yhft,A bl vo/kj.kk dk uke crkb;s rFkk bldk egÙo crkb;sA (ikB 3 ns[ksa)

fuEufyf[kr ls ys[kkadu lehdj.k cukb,A

(i) jksdM+ ls O;kikj vkjEHk fd;k] 20000 #-
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(b) #- 6]000 dk udn rFkk 1]50]000 :- dk m/kj eky Ø; fd;kA

(c) 4]000 #- ykxr dk eky 20% ykHk ij udn cspk rFkk 72000 #- ykxr dk eky 25% ds ykHk ij
cspkA

A concept of Accounting directs that Anticipats no profit, but provide for all possible losses. Name
this concept and give its signifiance. (See lesson 3)

Prepare Accounting Equation from the following.

(a) Started business with cash Rs. 20000.

(b) Purchased goods for cash Rs. 6000 and on credit Rs. 150000.

(c) Sold goods for Cash costing Rs. 4000 at a profit of 20% and in Credit costing Rs. 72000 at
a profit of 25%. (See lesson 4)

3- fuEufyf[kr esa ls fdlh ,d iz'u dk mÙkj yxHkx 40&60 'kCnksa esa nhft,A 2

Answer any one of the following questions in about 40-60 words.

(a) ;g ekurs gq, dh dFku lgh gS

fuEufyf[kr jkstukepk izfof"V;ksa dks 'kq¼ dhft,A

1- jksdM+ [kkrk uke 1]500
fodkl dqekj ls 1]500
(fodkl ls C;kt izkIr fd;k)

2- Ø; [kkrk uke 5]000
osru [kkrs ls 5]000
(ghjk yky dks osru fn;k)

3- Ø; [kkrk uke 8000
jksdM+ [kkrs ls
(udn iQuhZpj [kjhnk) 8]000

4- chek izhfe;e [kkrk uke 3000
jksdM+ [kkrs ls
(vxys o"kZ ds fy, chek izhfe;e fn;k)

1. Cash A/c Dr. 1,500
To Vikas Kumar 1,500

(Interest received from Viaks)

2. Hira Lal A/c Dr. 5,000
To salary 5,000

(Salary paid to Hira Lal)

3. Purchases A/c Dr. 8,000
To Cash A/c 8,000

(Furniture purchased for cash)
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4. Insurance Premium A/c Dr. 3,000
To Cash A/c 5,000

(Insurance premium paid for next year)

(b) fuEufyf[kr dh jkstukepk izfof"V;k¡ dhft, %&
tu- 5 10]000 #- dk udn eky [kjhnk rFkk 2]000 #- mlds HkkM+s ij O;; fd;sA
tu- 10 Hkou fuekZ.k ds fy, 20]000 #- lhesaUV] 10]000 #- ydM+h rFkk 5]000 #- etnwjh dk Hkqxrku

fd;kA
tu- 17 20000 #- dh iqjkuh e'khujh [kjhnh rFkk bldh rqjUr ejEer ij 2500 #- O;; fd,A

tu- 20 5 tuojh dks Ø; fd, x, eky esa ls vk/k eky 50% ykHk ij cspkA
Rectify the following journal entries assuming that the narration is correct.

Jan. 5 Purchased goods for cash Rs. 10,000 and spent Rs. 2,000 for its carriage.

Jan 10 Paid Rs. 20000 for cement, Rs. 10,000 for timber and Rs. 5,000 as wages for the
construction of building.

Jan. 17 Purchased an old machinery for Rs. 20,000 and spent Rs. 2,500 on its immediate
repairs.

Jan. 20 Half of the goods purchased an Jan. 5 was sold at 50% profit.

4- fuEufyf[kr esa ls fdlh ,d dk mÙkj yxHkx 100&150 'kCnksa esa nhft,A 4

Answer any one of the following questions in about 100–150 words.

(a) O;olk; dk pkgs dSlk vkdkj gks] izR;sd O;olk; esa izfrfnu dbZ NksVs&NksVs Hkqxrku gksrs jgrs gSa tSls Mkd O;;]
LVs'kujh] cl ;k VSDlh dk fdjk;k HkkM+k bR;kfnA lkekU;r% Hkqxrku ckjackj fd;s tkrs gSaA ;fn bu Hkqxrkuksa dks
jksdfM+;k eq[; jksdM+ iqLrd esa izfo"V djs rks mldk dk;Z cgqr vf/d c<+ tk;sxk rFkk jksdM+ iqLrd Hkh vR;Ur
Hkkjh gks tk;sxhA blls cpus ds fy, fdl iz.kkyh dks viukuk pkfg;sA bl iz.kkyh dh vko';drk crkb;sA

(ikB 7 ns[ksa)

In every business, irrespective of its size, daily a large number of small payments, such as for
postage, stationary, bus fare, taxi fare, cartage etc. have to be made. If these payments are made by
the cashier and are recorded in the main cash book, the cashier will be overburdened with the work
and the cash book will also become very bulky. Which system should be adopted to avoid this.
Give the need of this system. (See lesson 7)

(b) fuEufyf[kr ysu&nsuksa dh izfof"V;k¡ jkstukeps esa dhft,A (ikB 8 ns[ksa)
(a) fdjk;s dk Hkqxrku ugha fd;k (fdjk;k nsuk ckdh) #- 1]000
(b) futh mi;ksx ds fy, ekfyd us eky fy;k #- 200
(c) jke ,.M lUl ls m/kj e'khu [kjhnh #- 10]000
(d) 1]00]000 #- dh eksVjdkj ij 15% izfro"kZ dh nj ls ,d o"kZ dk gzkl yxkb;sA
Enter the following transactions in Journal proper of Geeta (See lesson 8)

(a) Rent not pard (Rent outstanding) Rs. 1,000

(b) Goods withdrawn by proprictor for personal use Rs. 200.
(c) Purchase of Machine on Credit for Rs. 10,000 from Ram & Sons.
(d) Depreciate Motor Car with book value Rs. 1,00,000 @ 15% p.a. for one year.
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5- fuEufyf[kr esa ls fdlh ,d dk mÙkj yxHkx 100&150 'kCnksa esa nhft,A 4

Answer any one of the following questions in about 100–150 words.

(a) ;fn ryiV dk feyku gks tkrk gS rks ,slk ekuk tk ldrk gS fd lHkh ysu&nsuksa dh izfof"V;ka xf.krh; :i ls
'kq¼ gSa vkSj budh [kkrkcgh esa lgh ls [krkSuh dh x;h gSA ;fn ryiV dk ;ksx leku ugha vkrk gS rks bldk
vFkZ gS fd O;kolkf;d ysu&nsuksa dh izfof"V;k¡ rFkk mudh [+krkSuh [kkrk cgh esa lgh ugha dh x;h gS ,sls fdUgha
pkj dkj.kksa dks crkb;s ftuds dkj.k ryiV dk ;ksx cjkcj ugha vkrk gSA

If Trial balance is in agreement it can be assured that all the entries of transactions are recorded
airthmatically accurate in posted in the ledger. If the total do not tally it means there are some
errors in recording and posting in the ledger. State any reasons for disagreement of Trial Balance.

(b) tc ,d O;olk;h viuh jksdM+ cgh 'ks"k dk feyku ikl cqd ds 'ks"k ls djrk gS rks lkekU;r% buesa vUrj gksrk
gS] D;ksafd jksdM+ cgh ds cSad LraHk esa ysu&nsuksa dh [krkSuh rFkk ikl cqd esa izfof"V;ksa dk le; ,d ugha gksrkA
jksdM+ cgh rFkk ikl cqd ds chp ,sls varj ds lkekU; dkj.kksa dks crkb,A

When a businessman compares the Bank balance of its Cash book with the balance shown by the
bank pass book, there is often a difference. As period of posting the transactions in the bank
column of Cash Book does not correspond with the time period of posting in the bank pass book.
Name the common reasons of such differences between the Cash book & Pass Book.

6- uhps nh xbZ ifj;kstukvksa esa ls dksbZ ,d ifj;kstuk rS;kj dhft,A 6

Prepare any one project out of the given below.

(a) vki eSllZ cM+kSnk VSDlVkby esa lgk;d ys[kkdkj gSaA vkidh dEiuh us eSllZ Ñ".kk VªsMlZ dks #- 2]50]000@&
dk eky cspk rFkk Hkqxrku esa rqjUr ,d pSd izkIr fd;k ftldk fooj.k uhps fn;k x;k gS%μ

Your are employed with M/s Baroda Textiles Ltd. as assistant Accountant. Your company sold
goods to M/s Krishna Traders for the Rs. 250000/- and immediately received the payment by
cheque, which is given below.

fnukad@Date : 04.04.2015

Pay M/s Baroda Textiles Ltd. .............................................. ;k /kjd dks OR BEARER #i;s Rupees
Two lakh fifty thousand only ..............................................................................................................
........................................................................................................................................ Rs. 250000/-

[kkrk u- 808430100112

State Bank of India        For Krishna Traders
Swasthya Vihar
Delhi

0753112 110024077                      10

A/c 
Pay

ee
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vc vki ,d okmpj cukb,] mlds i'pkr~ ,oa Hkqxrku iphZ esa Hkjdj pSd dks eSllZ cM+kSnk VSDlVkbyl fy- ds [kkrs
esa tek djuk gS rFkk bls jksdM+ cgh esa fy[kuk gSA

You are required to prepare a voucher and fill a 'Pay-in-Slip' for depositing the above stated cheque into

the account of M/s Baroda Textiles Ltd. and record the transaction into Cash Book.

(b) vkids pkpk tks ,d O;kikjh gSa vius [kkrs gkFk ls rS;kj djrs gSa vkSj vk/qfudhdj.k rFkk dEI;wVjhdj.k ds
u gksus dkj.k cgqr lkjh dfBukb;ksa dk lkeuk djrs gSaA os vkidh lykg ds dkj.k vius [kkrksa dks dEI;wVjhÑr
djus ds fy, rS;kj gks tkrs gSa ijUrq vc muds lkeus eq[; leL;k ys[kkadu lkÝVos;j Ø; djus dh gSA
ys[kkadu ds fo|kFkhZ gksus ds dkj.k cktkj esa miyC/ fofHkUu ys[kkadu lkÝVos;jksa ds ukeksa ds lkFk vkidks ,d
fjiksZV cukuh gS ftlls mUgsa ;g tkudkjh izkIr gks tk;s fd ys[kkadu lkÝVos;j Ø; djus esa D;k ckrsa è;ku esa
j[kh tk;saA

Your uncle who is a businessman maintains his accounts manually, and is facing lots of problems
in the same due to lack modernization & computerization. He is somehow convinced by your
arguments for computerization of Accounting system and want to get an accoiunting software, but
he again confused as to what factors he should keep in mind before the purchase of accounting
software. As a student of Accountancy suggest him by way of a report regarding the softwares
available in market with name sand the factors he should consider in selecting an accounting
software.
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